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Please check that this question paper contains 10 printed pages +2 Maps.

Code number given on the right hand side of the question paper should be written (
title page of the answer-book by the candidate.

Please check that this question paper contains 19 questions.

Please write down the serial number of the question before attempting it.
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General Instructions :

0]
(i)
(i)
(iv)
(V)

(vi)

There arel9 general questions.

All questions are compulsory.

Marks for each question are indicated against it.

Question numberd to 10 are short answer questions carryil@gmarks each.
Answer to each of these questions should not ex@@edbrds.

Question numberkl to 15 are also short answer questions carryhgarks each.
Answer to each of these questions should not ext2eedvords.

Question numberd6, 17 and 18 are long answer questions 6f marks each.
Answer to each of these questions should not exte@dvords.

(vii) Question no.19 contains test items of very short answer. It i$ aharks.
(viii) Outline maps of thevorld and India provided to you must be attached with your

(ix)
T
0]
(i)
(i)
(iv)

answer book.
Use oftemplatesor stencilsfor drawing outline maps is allowed.
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Which approach was followed by Vidal de la Blache to study human geography ? Describe
its main characteristic. 1+2=3
AT Y b FFAT & [0 arEesd S or sl J o fememy & sgaeen fear ar 2

=9 foamamT @ ger fasoar @1 avie i |

What is shifting cultivation ? Explain its two demerits. 1+2=3
TIMTT F /T 7 39 H & & STEON 0 AT B |
Explain three advantages of pipeline transport system. 3x1=3

qIEUAE qRaed FaeT & i @THl & @R Hi |

What is rain water harvesting ? Write its any four objectives. 1+2=3

qul S GUET o wed & ? 3H% @i IR Ie9d fanau |

Describe the importance of service sector in the economic development of the world by
giving three suitable examples. 3x1=3

HOR & AT foerd § Har & & Hew H1 [9aror d9 Iugedh Iare ad U Qg |

What is intensity of cropping ? Name any four states in which the intensity of cropping
is very high. 1+2=3
T TEAT el Fed & ¢ fobel AR TSl % A Ay O ST el dgd SAred

g

Distinguish between natural resources and human resources by stating three points of
each. 3x1=3
YIpih GATEH AR AW FQrEHl § qd® & o 9 9did 89, SR T BT |

What is the role of sea-ports in the foreign trade of India ? Write any three points in this
regard. 3x1=3
IRA & gl =R & aqd-ua=l & = gfier € 2 38 d9ed § @i W fag fafaw)



Draw or trace in your answer-book the outline map of India with the help of map

given below and mark the following therein : 1+1+1=3
(9.1) Industrial region No. 2 with its name.
(9.2) Industrial region No. 4 with its name.
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For Blind Candidates only in lieu of Question No. 9.
Faq gRedH qdenifat # Rie we wer 9 @ wWH W)

(9.1) Name one major industrial region in the state of West Bengal.
(9.2) Name one industrial region in the state of Gujarat.
(9.3) What is an industrial complex ?

(9.1) Ul I U= § Red Uw Y@ SN 9w d AW fafag |
(9.2) ORI T & Uk SMENRIE Yo & A ffEy |
(9.3) ofEnfes dga e Fed & 7




10. Study the following map and answer the questions given below :
(10.1) Name the railway line shown in this map.
(10.2) In which country does this railway line lie ?
(10.3) Name the stations marked in the map as A and B.
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(10.1) Name the longest railway line in the world.
(10.2) In which country does this railway line lie ?

For Blind Candidates only in lieu of Question No. 10.

Faa ghed whenffdt 3 R v we 10 =W |

(10.3) Name the two terminal stations of this railway line.
(10.1) 99X & 999 T W@HR HT A fafag |
(10.2) 7E @R fh9 U H ' 2
(10.3) =H WHR & offt<w R & & Rl & 9m fofiau |

11. Explain any four salient features of Indian cities. 4x1 = 4
ARA T &l fhdl ar faquareti &1 =amen wifig |
12. Explain any four geographical factors, in the context of the world, that affect the location
of an industry at a particular place. 4x1=4
Uk T a9 w R sar w5 saftafy & gwfad & arw R 9 S Rt
H AT, GG & ded ¥ g |
13. DEVELOPMENT OF SUPER HIGHWAYS IN INDIA
Project Dtal Connecting/Terminal Already Under Contracts Completion
Length Points Completed | Implementation to be Target
awarded for
Golden Delhi-Mumbai- Substantial
Quadrilateral 5,846 Kms. Chennai-Kolkata- 1,159 Kms. 4,551 Kms. 136 Knis. compléetion
Delhi by Dec. 2003
North-South Srinagar to
and Kanyakumari
East-West 7,300 Kms. 800 Kms. 688 Kms. 5,812 Kms. Dec. 2007
Corridors Silchar to Porbandal
Connectivity to Kandla, Jawaharlal
10 Major Ports Nehru, Mormugoa
Mangalore, Cochin,
363 Kms. Tuticorin, Chennai & 56 Kms. 113 Kms. 194 Kms| Dec. 2005
Ennore,
Vishakhapatnam,
Paradip and Haldia
Others 653 Kms. 136 Kms. 179 Kms. 338 Kms. Dec. 2007
Study the above table and answer the questions given below: 4x1 = 4

(13.1) What is the total length of Golden Quadrilateral ?
(13.2) Name the connecting points of North-South corridor.

(13.3) What is the completion target of connectivity to 10 major ports of India ?

(13.4) What will be the main effect of these super highways after their completion ?
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14.

IUGTh et &1 AT AT AR 1 U 10 g9 & I A
(13.1) =T agys * %Ha T et & 2
(13.2) STR-aferor i@ & Afaw Tl & A garey |

(13.3) 9RA & T9 W@ T=CME! Bl ST & HF B QT B B 76T T & 7

(13.4) T TEERT & a9 T & II6 SR G T91F HT SR 2

Describe any four problems of urban waste disposal with reference to Indian cities.
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4x1=4



15. Study the graph given below and answer the following questions : 1+1+2=4

Western
Europe
49 1.3
Latin : Russia
América 3
31 1
- Imports Exports (Numbers in $ billions)

(15.1) Name the country with which U.S.A.’s exports and imports both are lowest.

(15.2) Name one country with which the balance of trade of the U.S.A. is most
unfavourable (negative).

(15.3) Name the country with which the total value of foreign trade of the U.S.A. is the
highest. Support your answer with the data given in the graph.
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16.

17.

18.

19.

(15.1) 37 <1 &1 99 fafgu s @t 9.0, saRer &1 A oiR s e & a9
w2

(15.2) 3 <37 &1 9 gy Ses arer 9.4, sFRe & @R dqad 999 e gfiewmd
(srEgfem) g1

(15.3) 3 <37 &1 AW iy frae @ €., SR & 9l AR &1 @ o qaieh
T AU I A g IRE H U U sTiwsi § i |

For Blind Candidates only in lieu of Question No. 15.
Faa ghed whenffdt 3 R v wem 15 3 =W W)
(15.1) What is meant by balance of trade ?
(15.2) What is favourable balance of trade ?
(15.3) What is negative balance of trade ?
(15.4) Name the organisation which regulates international trade.
(15.1) IR e fha Fad © ?
(15.2) 1% @UR |Iad e Fad & °

(15.3) vftepe (srEgferd) AUR Sqad e #ad & °

(15.4) 39 GIeH &1 99 AT Al TSI AR Hl FIRIT BT € |

Define the term ‘migration’. Explain any four factors which are responsible for the
migration of people in India. 1+4=5
YT’ 9T I YRATST ST | ARA # @ & 94 & {0 IaRardl fohel I’ el &l
FTEAT I |

Define ‘density of population’. Explain with examples any four factors influencing the
density of population in the world. 1+4=5

‘TAEEIT & T I GRS T | §ER ¥ SEG@IT & g9 i THIead i ard el
TN FHh Bl IS Fied AT il |

Describe five main problems associated with the urban settlements in the developing
countries of the world. 5x1=5

qaR & fawrasiia <o & i afiadl § g df9 9@ qHE & a0 S |

(19.1) Inthe given outline map of tkiéorld four features are shown as A, B, C and D.
Identify them with the help of the map legend and write their correct names on
the dotted lines given in the map. 4xYo=2

(19.2) On the given political outline maplaflia provided to you, locate and label the
following with appropriate symbols : 3x1=3
() A nuclear power plant in Rajasthan.
() One major sea-port in Gujarat.
(i) A statewhere Tamil is mainly spoken.



(19.1) feu 7T WER & Y@r-aERE # 9R @@ A, B, C @R D & i@ v ¥ | gmtE
T T T TR § S6 YeaNy SR AEET § &1 T8 @ied {@rell ¥ S aevi
% gel a9 faRaa |

(19.2) smUent U T WRA & oo @-aEEs # fefataa @ Rafa Sugd fowsi
AR
() o | Ruq U A Fe G |
(i) o B TR TIE FHE- |
(i) TH T Sl A g i S g |

For Blind Students only in lieu of Q. No. 19.
Faq gRedH qdenffat @ o W €. 19 F WW R

(19.1) Name one most urbanised country of Europe.

(19.2) Name the trade canal that links Atlantic Ocean with Pacific Ocean.
(19.3) Name a famous sea-port located on the east coast of Australia.
(19.4) Name the nuclear power plant in the state of Rajasthan.

(19.5) In which state of India is Tamil mainly spoken ?

(19.1) IU9 & §IH Afeh TFHT TH T BT 919 [afas |

(19.2) 39 AMIRS & &l M [T ST 3fedliceh AR q9T ISd He™RR & At
2

(19.3) sreeferar & qdf de W RUd Uh yiHg a9at-aa &1 99 fafag |
(19.4) ToEa™ 5T § Raq qxA] ot w97 &1 9 fafen |
(19.5) wRA & [ T H TEaa: afa ardl adm § ?
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¥¥q 9. 19.1 & fag

For question no. 19.1
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Y99 9. 19.2

For question no. 19.2
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